T4 FEOFER

EERE (T

= e A "
R R W+®) |[EEESE |3E AR
(M) (Fm)
EATEL A TOERRUCBHESORE (FH. #
BRAEER BHESEEREREE 1,623 1623 o@?{“ﬁ§'§ﬁ“‘ﬁ“%ﬁ’XTAwﬁ*'&
EHEE ﬁa«go<¢ﬁmﬁ%«wsgm§b%5
BARAE. £HHE |SHESESREESZ 7,832 7 832 oﬁﬂﬁiﬁﬁﬁggﬁméﬁﬁé REMESESRICE
S E BN ER AU EE BRSO B R
BHESESREREE 550 550 s
R ATER TAY BRER~O— a5
SHEERSHERSEE 16,678 11,678 5 000
BEETAN NEGRIBEBEcE  RoRERE
2Ot (FHER) BHEERSRERSE 176 176 0
U — FEREEO B RO ES T2 00K
(HEEBS L FESEMARESE) 1.419 1,419 0
ﬁ**;_fﬁn§%—_$ﬂgg1$$$ **%ﬁ%%@jjE}](«Eﬂ:—{EE%ﬁ{%I}ﬁ@%%IEI‘ 'fﬁo)_%ﬁﬂt‘
— (35S B R IR B A AR ) M9 419 0| At
Ly —
& i m REREZOILGRE EE62. RERR. BAE
ﬁﬁgﬁg%ggﬁfi&%% 6. 001 6. 001 01%) D 2+ 4 1+ 0> — HBI B
e = . MEBHBOL VA IVIZET HRBE~DO—IRBIAK (4 9020
AHEEESREEEE FRIEWD
*@*gmff&b&b‘/@w%%%) 347 347 ol [715-n" vFv—] )
BERET F5AF— (110
EMENER LHEETRABARE HLERE) 3908 3. 908 0|4k - BEMKEE (1 A)
e o omn SRR OmE
gg MR AMERE | ahmpm e R se 26 26 0
R E R EE DR ERO D ORS
HEfEar EETHMRBEZESHESE 20, 917 20, 917 0
£t 59, 896 54, 896 5,000




